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31/2/3

The question paper comprises two sections, A and B. You are to attempt both
the sections.

All questions are compulsory.

There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be attempted
separately.

Question numbers 1 to 3 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions. These are to be
answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks questions. These are to
be answered in about 50 words each.

Question numbers 19 to 24 in Section A are five-marks questions. These are to
be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one-mark question. You are to select one
most appropriate response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.
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"I A
SECTION A

1. 39 GH9E it < g 4 e < AU-gd faRau e yericrs g
~
>C=01%| 1
Write the molecular formula of the first two members of the homologous

series having functional group >C = 0.

2. Tiu=a for8 hgd @ 2 99d 9rer & IR & Ty v ° I8 foham gt B 2 1

What is fertilisation ? Where does it occur in a human female ?

3.  Torslt wftas & Tl Q1 o9 wI<ehi shi T AR | 1

List any two abiotic components of an ecosystem.

4. THfaRad @ * AT IT-GRETHT W gt Wafad fhor ST 927 sy |
3G NG T ITIAA IV (£ 1) IR T v (£ r) Ht Afeha Hif | 2

Redraw the following diagram on your answer-sheet and show the path of
the reflected ray. Also mark the angle of incidence (£ i) and the angle of
reflection (£ r) on the diagram.

5. UH i3 al U™ AT ek gRI qierul R fifies fow & = dqed
1 @ AR S gt W Sfat K ffde sawiifaar § @8 7@ | 2
Suggest any two ways by which the balance between the environment

and industrial development is maintained so as to help undisturbed
survival of the organisms on the Earth.

31/2/3 3 P.T.O.
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AN oN H al AR foh TR “Fauenl QoM IR 83T ? 3=id: 39
ATl g0 TR AT ol Tord Tehr v firet 2

Where and how did “Chipko Andolan” start in our country ? How did this
movement ultimately benefit the local people ?

T <d §U AT hHISC foh THT /T & o e 9 @ C4+ G &1 Hehell 3
3R T & C4~ RO 1 Tohell 7, T I8 FgaAISt AMfieh SH1GT 8 i foed <6
FHATAh BId @ AR SFRT FT ToHTeh 3IR e FeeHTeh 8ial @ |

Explain, giving reason, why carbon neither forms C* cations nor

c4- anions, but forms covalent compounds which are bad conductors of
electricity and have low melting point and low boiling point.

BIEGIhEA 91 & ? (1) | BEgiehled, 3R (i) THJe TSGR hl HH
T3 fAfau qon s YR % T BIEGIehleH hl a1 =T |

What are hydrocarbons ? Write the general formula of (i) saturated
hydrocarbons, and (ii) unsaturated hydrocarbons and draw the structure
of one hydrocarbon of each type.

forel otmad aroft ® awal o affeRtel o folu qRATY] geaw <hl qoil § ORETT]
AT i M ITYH T F1 HAT AT 8 ? 3NY(eh 3mad aroft | (1) fopeht
AT § &€ TR | TR 3R 9H W, 3R (i) FFef o8 § 3 & = 97 =
Al ot uifeash @0 fohE TehR aEfdd BT 2 2 319 ITRI St HRoT A gfse
HIT |

Why is atomic number considered to be a more appropriate parameter
than atomic mass for the classification of elements in a periodic table ?
How does the metallic character of elements vary as we move (i) from left
to right in a period, and (ii) top to bottom in a group in the modern
periodic table ? Give reasons to justify your answers.

Terelt aar <l TRmTY] WEA 127 |
(a) 39 a7 ol So(eh fo=ame forgent s9eh! Tastehar faifa Hifse |

(b) I IE O Ca (WWHTY] TE&AT 20) | At Afufshamsfiicr 8 s1eram <»d
rfiyfspamsiiar 8 2 3199 SR Y gfee e T Hifv |

(c) oI g a0 ©Tq 3 31T 34T ?
(d) 39T o AFAES Hl g & |




11.

12.

13.

14.

15.

31/2/3

The atomic number of an element is 12.
(a)  Write its electronic configuration and determine its valency.

(b) Is it more reactive or less reactive than Ca (atomic number 20) ?
Justify your answer giving reason.

(e) Is it a metal or a non-metal ?

(d) Write the formula of its oxide.

IR Wl 6 G THRI o W [ARIY | A Th-gE H fhH YRR 19 Bid @ ?
S99 o 39 TR 1 a9 faflgr fed 3 afmfoa g9 8 | 39 ger & S W
oy fafgu |

Name the two types of mammalian gametes. How are these different
from each other ? Name the type of reproduction they are involved in.
Write the advantage of this type of reproduction.

et 0 fafiysar forg g Ico= gidt & 2 “faftmar wfisfig <1 Sashifear s9m
@ T Iwf 7 1”7 39 e <t gfsd fopelt Igreer St wEmmEr @ Hifu |

How do variations arise in organisms ? “Variation is useful for the
survival of species.” Justify this statement with the help of an example.

mify w1 g ? feal @ e & 9w fafge | 37 fafemt o swem foeh
IRER & W@ IR §fg ol TI§ 9 9 fhd TR wwifad s & ? frel
T fergatl 1 Ieci@ HINT |

What is contraception ? Name any two methods. How does the use of
these methods have a direct effect on the health and prosperity of a
family ? State any three points.

fopelt 15 TS o 3g9a o e Tohegl fiF ekl I T SR 3R T
i yfiert o1 39 fowa # 3g@ il |

List any three factors and mention how they could lead to the rise of a
new species.

Srared =1 8 23 Ao fashE & T fore g ywor o ®9 § i w8 2

What are fossils ? How do they act as an evidence for organic evolution ?

L
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16.

17.

18.

31/2/3

foreht <@ g o wifdfera w1 eads — 1 7 | 9 fora o wfdfors & e 6
T 60 cm 2, A fora 1 W % TR Heg F gl w0 R 2 W W B WH(A
SR B8 g Fd HIN | G T &I 18 % TR g hl AR 20 cm
TYMTANG fopan STQ, a1 Sfdfers gl = 37X $8eh! Jehfd 1 Bhf ? 379 I
£1 9fez % for fopor s it |

The magnification of an image formed by a lens is — 1. If the distance
between the object and its image is 60 cm, what is the distance of the
object from the optical centre of the lens ? Find the nature and focal
length of the lens. If the object is displaced 20 cm towards the optical
centre of the lens, where would the image be formed and what would be
its nature ? Draw a ray diagram to justify your answer.

TSl o TehIUM Shi TREEHT 1 IUINT hich TS hifve foh FTET 3N It
T g % 9ol § STt i wdid g # |

Using the phenomenon of scattering of light, explain why there is a
difference in the colour of the sun as it appears during sunrise and at
noon.

IRl TSt i Ted & I8 | off fF wal & W (@) 9t & fou e

WA Bd 8 | U T 3 u=m-ud § 98 dgl foh a9 0 3ueiey $9

SUEl & ®al b W H $S T o NSHATA UTT MY | T8 AR I8 SATHA &l

TE, Fifeh digehTeft gAR Tareey o foru gifaem g1d & |

(a) 39 3O ATATSH 1 BT REHATRET GRI HAl < TET 1 HGfod HEAT
for eRR TmEdT 2

(b) g hgl AT B foh Ig FIeRt digehTelt R 31T o7 Sfal o IR o
YA ek A Bld 91 2 3R U Hiur 4 3ifees g1 W gar S
HAEd e BH Ugad & | 38 GREeAT &1 W HR 39 fowy H
fetfaT |

Your mother always thought that fruit juices are very healthy for

everyone. One day she read in the newspaper that some brands of fruit

juices in the market have been found to contain certain level of pesticides
in them. She got worried as pesticides are injurious to our health.

(a) How would you explain to your mother about fruit juices getting
contaminated with pesticides ?

(b) It is said that when these harmful pesticides enter our body as well
as in the bodies of other organisms they get accumulated and
beyond a limit cause harm and damage to our organs. Name the
phenomenon and write about it.
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19. 9wy 1 8d § ? Sawed fhd TR s9d & 3 39kl oy 1 fuft fem
YehR ToRa SITaT § 2 99 T o 3799 § SiiameAl o Hawd ol 3oai@ <hIfVT | 5

What are fossils ? How are fossils formed and how is their age
determined ? State the importance of fossils in the study of evolution.

20. THfert AR IwAfT i 1 Teh-Teh ITET AT | goa1 | B a1l T h
Tl YRR o st faued hINTT | 991 BIaT 8 STd hig WATehUT fohel! IUTh dfcishtil
T UG AT 8 ? AU H 1Sl (07 qeh B Arelt geel o 9N H faRae | 5
Give one example each of unisexual and bisexual flowers. Differentiate
between the two types of pollination that occur in flowers. What happens
when a pollen lands on a suitable stigma ? Write about the events that
occur till the seed formation in the ovary.

21. TUEX 9 8Id & ? T&U bl fohd YohR SR ST & 2 B orat Afufsean v
e Tl ffau | = BT 8 9 s Ut Eifsad BIsgieETss o a1y
rffshan st 8 2 39 ATk o1 TETfe dHiehtor, 19 3R 39 fafET | 5
What are esters ? How are esters prepared ? Write the chemical equation
for the reaction involved. What happens when an ester reacts with
sodium hydroxide ? Write the chemical equation for the reaction and also
state the name and use of this reaction.

22. (a) HFAd AT & F=fafga y@s am w1+ fafgu .

(i) oI

(i)  gRdTiER

(i) Topwectia (rfime) <@
(v) gt ufsmt

(v) e

(b) I3 A 1 m & FA g W e forali 1 v T2 ¢@ aren | 9 form
g QW @ difed 2 2 39 g QY 1 HROT 3R I9YH 8GRI TEH
TG g9 o Tog fertor @ wifem | 5

31/2/3 7 P.T.O.



23.
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(a)  Write the functions of each of the following parts of the human eye :
(1) Cornea
(i)  Iris
(i1i)  Crystalline (Eye) lens
(iv)  Ciliary muscles

(v) Retina

(b) A person is unable to see distinctly the objects closer than 1 m.
Name the defect of vision he is suffering from. Draw ray diagrams
to illustrate the cause of the defect and its correction by suitable

lens.

I AE o TR H T -gll (w) o T Sffera-gll (v) s foreror i gurie areft
fFafafga Jeor ariferert =1 favamor Fifsie st gfiered fore fomm & FAeafeafea
W%}?Wﬁﬁﬂ

#7 | feagd | kel
e u (cm) v (cm)
1 - 60 + 12
2 - 30 + 15
3 - 20 + 20
4 - 15 + 30
5 -12 + 60
6 -9 + 90

(a) 3T ¥ ! BlhE gl foheHT B 2 319 I o forg swwer e |
b) a7 foragll (w T Fifm feeht aeredt sfaferaght (v a8 78 2 | 78

o o
s e fopg g fehTet 2

(c) I3 it IWYH AT HHHL J&0 T 4 & oI fopor em@ Eifeu ik
ST T AT T TG T |




Analyse the following observation table showing variation of
image-distance (v) with object-distance (u) in case of a convex lens and
answer the questions that follow without doing any calculations :

(a)
(b)

(c)

24. (a)

(b)

(c)

31/2/3

3. No. Object-Distance | Image-Distance

u (cm) v (cm)

1 - 60 +12

2 - 30 +15

3 -20 + 20

4 - 15 + 30

5 -12 + 60

6 -9 + 90

What is the focal length of the convex lens ? State reason for your
answer.

For what object-distance (u) is the corresponding image-distance (v)
not correct ? How did you arrive at this conclusion ?

Choose an appropriate scale to draw a ray diagram for the
observation at S.No. 4 and find the approximate value of
magnification.

T U % Ha H FefaRad wgi <l aimr §ife

(1) gd

(ii)  shdl g
(iii)  dshdr =T
(iv) H&I A

(i) STaaet gUul, TR (i) ITA UV o T&I Bishd ol g o oI fopeor

I difem |

fr=afaiga sm@ d@, MM’ +1E 379d <9 8 91 AB i fora 8 | 39
fora &1 yfdfors 591 q@ia & fofe ot Sgfeas W fomor sm@
i | 5

W >

=Rl NSRS

9 P.T.O.



(a)  Define the following terms in the context of spherical mirrors :
1) Pole
(i)  Centre of curvature
(iii) Radius of curvature
(iv)  Principal axis

(b) Draw ray diagrams to show the principal focus of (i) a concave
mirror, and (i1) a convex mirror.

(c) In the following diagram, MM is a concave mirror and AB is an
object. Draw on your answer-sheet a ray diagram to show the
formation of image of this object.

M
i
C F B zg
MI
g d

SECTION B

25. Tffiad sm@ # ®H-$H o FIv 98 3ifera fopr U & 2

A) Tt (B) <had Li3dR LA
(C) /i, Zr3M LA D) /i, ZAIW /D

31/2/3 10



In the following diagram, the correctly marked angles are

(A)

(©)

Zi,Zrand £ A

(B) OnlyZiand Z A

D) Zi,LZAandZD

26. V9 9 TRl ITA W8 G T Y a9, el TRl e & TS 7, %
gfdfers sl 9¢ T HIhEd Hd 8, a1 9¢ T Tfifers 6l AThfd hell @ <l

722

(A)

()

31/2/3

(B)

(D)

11 P.T.O.
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When you focus the image of a distant flag, whose shape is given below,

on a screen using a convex lens, the shape of the image as it appears on

the screen is

(A)

()

(B)

(D)
AN AN

forell BT 1 SIS TR Ik & 713 8 el Bk gl 98 g o ifera i
T 1 E TR | 3™ gRE W 24 om g R O G W BB ek AG BT
2 1 38 gfth o 9N § TEl e gHu |

(A)
(B)
©)
(D)

12cmqﬁwaﬁwm‘czq‘m
240mW@$TWﬁH
24 cm HIhE gl T Faad guvl
120mW@WWﬁH

An optical device has been given to a student and he determines its focal

length by focusing the image of the sun on a screen placed 24 cm from

the device on the same side as the sun. Select the correct statement about

the device.

(A) Convex mirror of focal length 12 cm
(B)  Convex lens of focal length 24 cm
(C)  Concave mirror of focal length 24 cm
(D)  Convex lens of focal length 12 cm

12
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29.
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i o TS & I aTell Jehrer fohur 1 97 oMifgd & & fore f=faRea o

T Faay Y Sael T 1
I 11 III v

A I

B) II

(C) II

D) 1V

Select from the following the best experimental set-up for tracing the

path of a ray of light through a glass slab :

v

I II ITI Y
A 1
B) I
(C) 1III
(D) 1V

3! SRANTIITAT H R A s o foTT &gl T & | F=faRad s@vi < a9
H ¥ 39 98 ! gHe, feeh feet ot t oaur &t o oTd S § iRt
IR el ITd L Tehd & | 1

(A) NaCl; NaySO; KCI

(B) NaCl; CaCly; KCI

(C) CaCly; CaSO4; MgSO4
(D) NayS0y4; CaSOy4; MgSOy4

13 P.T.O.
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You are asked to prepare hard water in your laboratory. Select a group

from the following groups of salts, any salt of which you may dissolve in

distilled water to obtain hard water.

(A)
(B)
(&)
(D)

NaCl; NagSO4; KCl
NaCl; CaCly; KCl
CaCly; CaSOy4; MgSOy4
NagSO4; CaSOy; MgSOy

Ife o forelt et § $© A 9 ookt 394 THH A H VEifew e
fiemd ok fist 3@ fosmor o6t wefi-wifa feemd ofit 3o w9 & fow 38 gweAe
Tvg W oA faemmu-gamme @ <, af T 5 fiee warq 31 I S it ?

(A)
(B)
(&)
(D)

UHifesh 3Tt S TWd W I I T |

IS T TG I defl WS W R |

T ¥ TTEH 18 & gl fehd @ 2 |
A H o, TRH IResl fae=e o9 T 2 |

If you take some distilled water in a test-tube, add an equal amount of
acetic acid to it, shake the test-tube well and leave it undisturbed on the
test-tube stand, then after about 5 minutes, what would you observe ?

(A)
(B)
©
(D)

There is a layer of water over the layer of acetic acid.

A precipitate is settling at the bottom of the test-tube.

Bubbles of colourless gas are coming out of the test-tube.

There is a clear, colourless transparent solution in the test-tube.

frafafaa ammft & ag=t 4 9 fhaeht ST AeH S § foRam ST Gehdt B 2

(A)
(B)
(&)
(D)

i =1 dt IR Hfcom grzgiease
TWUS HI dd N AT FRGIFATES
QS dat 3R Aifeam grEgieaTss

i =1 d IR B gggieaTss

Which one of the following sets of materials can be used to prepare soap ?

(A)
(B)
(®)
(D)

Neem oil and calcium hydroxide
Castor oil and sodium hydroxide
Mineral oil and sodium hydroxide
Neem oil and magnesium hydroxide

14
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33.
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fiee 3§ g 1 YT 3 o Frffad wei @ wE w9t 1

I. Sk hHIRTERT a1 AT ARk Fafd IR # fawrfaa gidt 8 3 I8l
Sk <Rl 31{Eecd THTT &1 14T & |

II. 399 Sffepd Shrgeh o1 1 ATYh Fafd shrgehl | fawTiord g 2 |
III. % 9 oh fohell TR & H I3 Jobdd IHAAT 7 |
IV. S % 8 3T 8H % 999Tq Gohel Y01 fIehfad BIeht 71 Taa Sia 4

ST ® |
(A)  Had I (B)  <had III
(C)  <had II 3T III (D)  ohad III 3R IV

Choose the correct statement(s) on budding in yeast from the following :

L A parent cell divides into two or more daughter cells and here the
parent identity is lost.

I1. In this the elongated nucleus divides to form two or more daughter
nuclei.

III. A bud arises from a particular region on a parent body.

IV.  After detaching from the parent body the bud grows into a new
independent individual.

(A) Tonly (B) III only
(C) 1II and III only (D) III and IV only
fFeffiad § & Hea 37 sl 9= 9T 1

(A) THEE % Wg 3R fadell & g

(B) e o U@ AN IHCE & 9@

©) Faaeht ¥ v iR F F T

(D) =< o 3UUTE, T & WIS N Bushell & UG
Select a set of homologous organs from the following :
(A)  Wings of a bat and wings of a butterfly

(B) Wings of a pigeon and wings of a bat

(C)  Wings of a butterfly and wings of a pigeon

(D)  Forelimbs of a duck, forelimbs of a cow and forelimbs of a lizard

15 P.T.O.
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35.

36.
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R ‘G % i & yur & ol wmn f ggEm FE7 w1 T KA R O
3Tk g IAUATS ST STt TshaT T U <hIfTT |

You have to perform the experiment, “To identify the different parts of an

embryo of a gram seed.” Describe the procedure that you would follow.

HIF o ISR TAT T 45° & HIU T AYGd JeheT for 1 99 mfRaq
FIT | rada w1, ffa S 3R e ¥ 9 | oo § g1 are Jifvess
oo <ht 119 fafigu |

Trace the path of a ray of light incident at an angle of 45° on a
rectangular glass slab. Write the measure of the angle of refraction, the
angle of emergence and the lateral displacement suffered by the ray as it
passes through the slab.

(A) Al 3w vEifes ot o feAfaRad @ qoremt & Seqon < fard forea
& foTu gt S, ot 31 o= foe 2

1) g
(i) TofeHd W y9E

(B) g AU Ush WEAeH § Ueh Tohl HITSTH FIEGNH HlAMHS TIPS bt
3IGH Sc5g Hh UHIH ITFA SIat, dl AT G & FT UFW HAT ?
ol 31 g et <t Tt SR |

(A) If you are asked to report your observations about the following
two properties of acetic acid, what would you report ?

(1) Odour
(11) Effect on litmus

(B) If you take a pinch of sodium hydrogen carbonate powder in a
test-tube and add drop-by-drop acetic acid to it, what would you
observe immediately ? List any two main observations.

16



MARKING SCHEME Code No. 31/2/3

CLASS X — FOREIGN

Expected Answer/ Value point Marks | Total
SECTION-A
Q1. | CH3COCHEs, CH3COC;Hs Ya, Y5 1
Q2. e Fusion of sperm/male gamete and female gamete Y
e Oviduct/ fallopian tube Ya 1
Qs. Air, Water, Minerals, Sunlight
(‘any two) Y5+ 1
Q4.
‘(_‘.
Diagram 1
MarkingZi and /r ¥, Y 2
Q5. Judicious use of forest resources for industrial development
Waste water generated by industries should be recycled
Alternative resources to conserve natural resources
(oranyothertwo) | 1,1 2
Q6. ‘Chipko’ means ’hug’ and ‘Andolan’ means’ movement’ This movement was’
started in Garhwal region or Uttarakhand by hugging tree trunks to prevent the | %, %
cutting of trees. Ya
i) Forest produce was made available to the local population. Ya
ii) It benefitted the environment by conserving the quality of soil and the
resources. 2
Q7. Carbon cannot lose 4 e~ to form C** cations, as very high energy is required to Y
remove 4 e
Carbon cannot gain 4 e to form C*anions as nucleus with 6 protons cannot hold Yo
10 electrons.
Carbon can share 4e” to form covalent compounds. Ya
Carbon compounds do not conduct electricity being non polar and do not form
ions/ charged particles. 1
Due to weak intermolecular forces of attraction, carbon compounds have low
melting points and boiling points. Y2 3

Foreign —31/2/3

Page 2




Q8. Hydrocarbons-Compounds of carbon and hydrogen. 1
Saturated Hydrocarbons CnHan+2 Y
Unsaturated Hydrocarbons CnH2n/CrHzn-2 Ya
Structural formula:

'T'
H—?—H
Saturated Hydrocarbon: ~ H Y
H H
~N /
L=C_ I—C=C—11
Unsaurated Hydrocarbon : H H 1 3
Q9. e Atomic number is more important parameter than atomic mass as atomic 1
number determines the number of valence electrons which decide the
chemical properties of an atom of an element.
e Metallic character decreases from left to right in a period, because the | ¥ + %
tendency to lose electrons decreases due to increased attraction between
nucleus and valence electrons.
o Metallic character increases down the group, as the tendency to lose | .+ %
electrons increases, due to decreased attraction between nucleus and
valence electrons because outermost electrons are farther away. 3

Q10. |a)X(12) :2,8,2 Yo
Valency : 2 Y5
b)Less reactive than Ca as reactivity increases down the group. Y, Yo
c)It is a metal Y5
d)Formula of oxide : XO Yo 3

Q11. | Male gamete : sperm Y
Female gamete :ovum/egg Y
Sperms are motile and produced by male individual
Ovaleggs are non motile and produced by female individual 1
Sexual reproduction Y5
Advantage : Generates more variations Y5 3

Q12. | ¢ Variations may arise due to small inaccuracies in DNA copying during | 2 x 1

reproduction; as a result of sexual reproduction where genetic materials
from two different organisms combine to form a new organism.
e During adverse conditions some variations may give survival advantage to
the organism
e.g. a population of bacteria living in temperate waters. If the temperature
of water increases suddenly then most of the bacteria would die but few
variant bacteria resistant to heat would survive and grow further. 1
(or any other example) 3
Q13 | ¢ Contraception: Any method which prevents conception/ pregnancy is called Yo
contraception.
e Barrier Method, Chemical Method, Surgical Method (any two) Yo, 2
e Health of women (mother) is maintained,
Parents can give more attention to their children/ family,
More resources may be made available for improvement of standard of | ¥2x3
living ( or any other relevant point) (any three) 3
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Q14

(i) Natural Selection
(if) Mutation
(iii) Genetic Drift
(iv) Geographical Isolation
(any three)
(‘brief description of any three)

3x %
3XY

Q15.

Fossils : The remains or impressions of dead or decayed plants and animals

o Fossils tell us how new species arise from old ones
e Fossils provide missing links, thus helping in the study of evolution.

[=Y

Q16.

m = — 1, Hence the image is real and the lens convex. Asm=-1, u=v

u+v=60cm (given) i.e. 4f =60 cm

When object is at 2F, image is also at 2F distance i.e. f =+ 15cm

Y

On displacing the object by 20 cm towards the lens
u=-10cm

At 11 1 1.1
f v u v f wu

Y

1 1 1 -1
Or — = + =
v +15cm -10cm 30cm

Y2

Orv= - 30cm

Nature of the image will be virtual.

Y

A/
KR~

QI

Q17.

At sunrise, light from the sun near the horizon passes through thicker layers of
air and larger distance in the earth’s atmosphere before reaching our eye.Hence
shorter waves are scattered away and longer (red) waves reach our eye.Hence
sun appears red.

1%

However,at noon sunlight would travel relatively shorter distance only a little
blue and violet colours are reflected and it is nearly the white light which
reaches our eye.

1%

Q18.

(@) (i) During growing of fruit crops, pesticides are often used which may
contaminate the fruit and hence the fruit juices.
(ii) by using contaminated ground water for making fruit juices.
('b) Bio magnification/ Biological magnification
The progressive accumulation of non biodegradable toxic substances/ chemicals
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at each trophic level leading to their maximum concentration at the highest

trophic level (human beings) is called biological magnification. 1 3
Q19. o Fossil : Preserved traces of living organisms are called fossils. 1
o Fossils are formed when the body parts of the dead organisms do not
decompose completely and are caught up in mud and eventually harden
to retain the impression of the body parts. 2
e Age of the fossil can be determined by:
(M Relative method
(i)  Carbon dating method ot
e Importance of fossils in the study of evolution:
0] Help us in knowing about the species which are no longer alive.
(i) Provide evidence of missing links between two groups of
organisms. (any one)
1 5
Q20. | Unisexual Flower : Papaya/ Water-melon/ any other (any one) 1
Bisexual Flower : Hibiscus/ Rose/ any other 1
(any one)
Self pollination: The pollen grains are transferred from the anther to the stigma
of the same flower or to the flower of the same plant 1
Cross pollination: The pollen grains are transferred from the anther to the
stigma of a flower of a different plant. 1
e After pollen lands on a suitable stigma, a pollen tube grows out of pollen
grain and travels through the style to reach the ovary 1
e The male germ cell fuses with the female germ cell to form a zygote. Yo
e Zygote divides several times to form an embryo within the ovule Ya
e The ovule develops tough coat and gradually gets converted into a seed Yo 5
Q21. | ¢ Esters: Pleasant smelling organic compounds Ya
e Formed by the reaction of carboxylic acids and alcohols in the presence of 1
acid.
Equation :
CHsCOOH + CzHsOH—> —*9— CH3COOC;Hs + H.0
( Ester) 1
e Sodium ethanoate is formed. 1,
e CH3COOC;Hs + NaOH—CH3;COONa + C;HsOH 1
e Name of Reaction : Saponification v,
e Use : Preparation of soap 1 5
Q22. |a) i) Cornea- To refract the light rays falling on the eye
ii) Iris- To control the amount of light entering the eye.
iii) Crystalline lens- To focus the incoming rays on the retina.
iv) Retina- To act as screen and send signal to the brain via optic nerve Y x4
b) Hypermetropia/ Long-sightedness 1
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Q23. | a) Observation no 3, indicatesu=-20cm v=+20cm
It suggests that object is at 2F
Therefore f =+ 10 cm
b) Observation no 6, because, here:
u=-9cm
Thus object is between ‘O’ and ‘F’
Hence image distance should be negative NOT positive
c)
A
}
Lom A
1
B L B
&———— [SOm . Yo
2 m
e 308 Ya
1
Al 1%
Magnification is approx =-2 " 5

Q24. | Four definitions:

a)

i) Pole — The centre of the reflecting surface of the spherical mirror.

i) Centre of curvature — The centre of the sphere of which mirror forms a
part.

iii) Radius of curvature — The radius of the sphere of which mirror forms a
part.
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iv) Principal axis — An imaginary straight line passing through the pole and the

centre of curvature of the mirror Yo x4

b) (1)

A

At
infinity |
B
1
(ii)
D
o = II-I‘-.
_ N
infinity 1
c)
M A
A “ut -
c_—F ® Zf
1 5
SECTION-B
25) c 26) a 27) ¢
28) b 29) ¢ 30)d
31) b 32)d 33)d 1X9 9
Q34. | i) Soak a few seeds of gram/Bengal gram/chana/kidney beans/etc and leave

them overnight.
ii) Drain the excess water.
iii) Cover the seeds with a wet cloth and leave them for a day.
iv) Cut open the seed carefully and observe the different parts. Yax 4 2
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Q35.

Diagram 1
Labelling 1 2
Q36. [a] (i) Smells like vinegar
(if) Turns blue litmus red
[b] (i) brisk effervescence
(i) evolution of colourless gas Yo x4 2
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